· Objective

“To become familiar with HC11 and writing machine and assembly language code to perform basic looping.”
· Theory

There were three parts to this lab.  The first part 2.1 was about looping.  We created a program that would take data from 16 memory addresses and place them in 16 different addresses in reverse order.   We took data located in the addresses $31A0 through to $31AF and placed it into the locations $3190-$319F reversed.   To do this we created a loop that would take the data of the first address and place it in the second, then it would increment the first address going to $31A1 and decrementing the second going to $319E-each time it loops it will increment and decrement until its counter reaches zero-where it will stop and do a SWI.

Part two of the lab is to write a program that will add a series of bytes at addresses $3100-$310F to the series of bytes at addresses $3110-$311F and stores the results in another address.  To do this we created the program using assembly code and then went through it and converted it to machine language.
Part 2 of the lab was to write a program that would add values in locations $3100-$310F with the values $3110-$3110F and store the answer $3120-$312F without modifying the values in the addresses being added.  To do this we created a loop and used the X register. We created the loop to start at the beginning of the data (0,X) store the value in the accumulator and add it to the data stored $10 from the start of the data ($10, X) and store it in the address $20 from the start ($20,X).  By using a counter you can increment X until all the data is added.  By doing this loop using the X-register the memory does not get affected and the data stays the same and the new sums are stored in memory at the locations.
Part 3 of the lab was to modify the first lab with loops.  We created counting loops.  We called to the loops to create a smaller program smaller meaning length wise.  We used two loops for the math and then we used 3 loops to print out the memory values.     

· Conclusion

The results from the program were correct.  The outcomes were as expected.  Since some of the programs did not have print functions we had to use the memory dump function in Buffalo to see how the memory was affected.    
